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// boundbag.cpp : LE3HFEE "main" K&, EFHUTBRELTFRFHLER.
//

#tinclude <iostream>
using namespace std;

template <class Typew,class Typep>
class Knap
{
friend Typep Knapsack(Typep*, Typew*, Typew, int,int*);
public:
Typep Bound(int i);
void Backtrack(int i);

Typew c; /EEEE

int n; /1¥DEREL
Typew* w; /IR EEEE
Typep* p; /DRI EEA
Typew cw; //HEBIEE
Typep cp; //EBINE
Typep bestp; [/ EBIRMNE

Int™ x;

}; nt* bestis | % g};@_)%m

template <class Typew, class Typep>
void Knap<Typew, Typep>::Backtrack(int i)
{

if (i >n)
{ /1BEMER
bestp = cp;

for (inti=0;i<=5;i++)

{ T3 9 ..
bestx[i] = x[i]; 4 %ZJ; f
} (A

return,

}
if (cw + wli] <=¢)
{ /ENEF
cw += wli];
cp +=plil;
x[i]=1;
Backtrack(i + 1);
cw -= wl[i];
cp -= p[i];
x[i] =0;

}



if (Bound(i + 1) > bestp)
{ /ENGF
Backtrack(i + 1);
}
}

template <class Typew, class Typep>

Typep Knap<Typew, Typep>::Bound(int i)

{ IATELER
Typew cleft=c-cw; //RIRBE
Typep b = cp;
while (i <= n && wl[i] <= cleft)

{ [ RBNEERBRF RN

cleft -= wli];
b += pli];
i++;

’

}

if (i<=n)

{ /e
b += p[i] * cleft / wli];

}

return b;

}

template <class Typew, class Typep>
class Object
{
friend Typep Knapsack(Typep*, Typew*, Typew c, int n);
public:
int operator<=(Object a)const { return (d >=a.d); }
int ID;
float d;
b

void merge(int *data, int start, int mid, int end, int *result)
{ [AFHEFEHER
inti,j, k;
i = start;
j=mid + 1;
k=0;
while (i <= mid && j <= end)
{
if (datali] <= datalj])
result[k++] = data[i++];
else
result[k++] = data[j++];
}
while (i <= mid)
result[k++] = data[i++];
while (j <= end)
result[k++] = data[j++];

for (i=0;i<k;i++)
data[start + i] = result[i];

}

void merge_sort(int *data, int start, int end, int *result)

{ [/V3AFHEEE
if (start < end)
{
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if (start < end)

{
int mid = start + (end - start) / 2;
merge_sort(data, start, mid, result);
merge_sort(data, mid + 1, end, result);
merge(data, start, mid, end, result);

}

}

template <class Typew, class Typep>
void Sort(Object<Typew,Typep>* Q, int n)

{
int* d=new int[n];
int* result=new int[n];
for (inti=0;i<n;i++)
d[i] = Q[i].d;
merge_sort(d, 0, n, result);
}

template <class Typew, class Typep>

Typep Knapsack(Typep p[], Typew w[], Typew c, int n)

{ /1¥18a1
Typew W =0;
Typep P =0;
Object<Typew,Typep>* Q = new Object<Typew, Typep>[n];
for (inti=1;i<=n;i++)

{
Qli-1].ID=i;
Q[i - 1].d = 1.0*p[i] / w[i];
P +=pl[i];
W += wli];
}
if (W <=c) [IENFTEYIER
return P;
Sort(Q, n); /IR EENEREF
Knap<Typew, Typep>K;

K.p = new Typepl[n + 1];
K.w = new Typew[n + 1];
for (inti=1;i<=n;i++)
I
K.pli] = p[Qi - 1].ID];
K.w[i] = w[Q[i - 1].ID];
}
cout << "p[i]:\t";
for (inti=1;i<=n;i++)
{
cout << K.p[i] << "\t";
}
cout << endl;
cout << "wli]:\t";
for (inti=1;i<=n;i++)
{
cout << K.wli] << "\t";

}

cout << endl;

K.x = new int[n + 1];
K.bestx = new int[n + 1];
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K.x =new int[n + 1];
K.bestx = new int[n + 1];
for (inti=0;i<=n;i++)
{
K.bestx[i] = 0;
K.x[i] = 0;

}

K.cp=0;
K.cw =0;
K.c=c;
K.n=n;
K.bestp = 0;

K.Backtrack(1); //BIEEER
cout << "bestx=\t";
for (inti=1;i<=5;i++)
cout << K.bestx[i] << "\t";
cout << endl;

delete[]Q;
delete[]K.w;
delete[]K.p;
return K.bestp;

}

int* bestx = new int[5 + 1];
int main()
{
int p[6] ={0,12,30,44,46,50 };
int w[6] ={0,5,15,25,27,30 };
cout << "bestp=\t" << Knapsack(p, w, 50, 5) << end|;

return O;
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// badmintonmatch.cpp : I3 E "main" K&, FEFRFITEELANTFIAFHLEEER.
//

#tinclude <iostream>
using namespace std;

class badminton

{
public:
void choice(int i);
void init();
void swap(int i, int j);
int** p;
int** Q;
int *x;
int n; [INZEL
intv; /1B
int bestv; [/ HBIERAEUEEF
b
void badminton::init()
{ /1¥18a1
cin >>n; /EENRMEL

P = new int*[n];
for (int k = 0; k < n; k++)
P[k] = new int[n];

Q = new int*[n];
for (int k = 0; k < n; k++)
Q[k] = new int[n];

for (inti=0;i<n;i++)
for (intj=0;j<n;j++)
cin >> P[i][j];
for (inti=0;i<n;i++)
for (intj=0;j<n;j++)

cin >> Q[i][j];
x = new int[n]; /NS RERAHES
for (inti=0;i<n;i++)
x[i] = i;
v=0;
bestv =0;
choice(0);
}
void badminton::swap(int i, int j)
{ | 3THRERER
int temp = x[i];
x[i] = x[jI;
x[j] = temp;
}
void badminton::choice(int i)
{
if (i==n)
{ /MR, HTERINE

int t=0;



{ /IMER, TTERINE
int t=0;
for (intj=0;j<n;j++)
t += P(j][x[i1] * QIx[1G);
if (t > bestv)

bestv =t;
return;
}
for (intj=i;j<n;j++)
{
swapl(i, j); /1332 HET
choice(i + 1);
swapl(j, i); //4&[a]
}
}
int main()
{
badminton a;
a.init();
cout << a.bestv << endl;
}
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